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o222/ (HIZ) 2,000 100 200
DI2HO| & 107,664 40,800 66,864
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O1 32232 £ HMA 3,200
Defsat 22 THol BHaSH oY
400,000& * 13 400
DEHHASHAEISHAEER
200,000& =13 200
PRELRS 100,000& «12& 1,200
D>eErE22 g3l 500,000& =13 500
D> AL Ol At &3l 60,0003 *15J4 st 3 900
O3 A& &Hl Sl 9,800
>er=2 EMHO0IXl 2teldl 150,000& x12& 1,800
> &AIA Al S X 8,000, 000& 14 8,000
2EEE =2 153,402 83,912 69,490
M 2&2tel 183,402 83,912 69,490
HELE BE2e 106,922 83,912 23,010
101 Q1 Z4H| 1,748 1,704 44
04 JIZHMIZE2XESE = 1,748 1,704 44
OLRLHTU MESY L Ha
43,7003 12140 1,748
201 LetHH| 20,142 20,208 A66
01 AtR 22/t 10,438 10,438 0
O1 git=ZH| 10,438
PEA ZEH) § 225 #¢
100,000& «12& 1,200
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